)

1/0 do/din(y

Ratio to ALEPH

=
o

| I IIIIIII| I IIIIIII| I III%\I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII|

0.5

m ALEPH
--3-- Herwig 7.2.0 default
----- ¢ Sherpa 1.4.3 default

_9:II- Gelv ele [ [ [ [ [ [ [ [ y|*/ZI(Hal.(:lr()Ir"C)l_
PP Lanaad. T -

e " 7

..ﬁ'ﬁﬁ %i =

&8 & =

P . N

& ‘ _

W ) 7

.

vEm
am B

| ||||||||||||TWI ||||||||I ||||||||I

= | I | | | I | | | I | | | I | | |

: T | T T T | T T T | T T T | T T T

C R

'y SRR LS

— ':I‘. IZ:I \‘ ” ” ’,IZEI \\I“.

- ’IZII;I IﬁEIEIEIEIEIEIEEEI o .Z .

¢ L3 g i N |

L ""'O-O-QI;IEI @ _

- Ill" —
| ) | | | ) I:_I.:Iu |
4 6 8 10 12

Rivet 3.1.0, = 5.7M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


